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Tables (9d52;en)

11x1 =11 12x 1 =12 13x 1 =13 14x 1 =14 15x 1 =15

circle sphere

11x2 =22 12x2 =24 13x2 =26 14%x 2 =28 15x 2 = 30
11x3 =33 12x3 =36 13x3 =39 14x 3 =42 15%x 3 = 45
11x 4 =44 12%x 4 =48 13x 4 =52 14x 4 =56 15x 4 = 60

11x5 =55 12x5 =60 13x5 =65 14x5 =70 15x 5 =75
11x6 =66 12x6 =72 13x6 =78 14x6 =84 15%x 6 = 90
11x7 =77 12x 7 =84 13x7 =91 14x 7 =098 15%x 7 =105
11 x8 =88 12x 8 =96 13x8 =104 14x 8 =112 15%x 8 =120
triangle cone 1x9 =99 12X 9 =108 13x 9 =117 14x 9 =126 15x 9 =135
11 x 10 =110 12 x 10 =120 13 x 10 =130 14 x 10 =140 15 * 10 =150
6x1 =16 17x1 =17 18x 1 =18 19x 1 =19 20x 1 = 20
16x 2 =32 17x2 =34 18x 2 =36 19x 2 =38 20x 2 = 40
- 16 x 3 =48 17x 3 =51 18x 3 =54 19x 3 =57 20x 3 = 60
rectangle cuboid

l6 x4 =64 17x 4 =68 18x 4 =72 19x 4 =76 20x 4 = 80
6 x 5 =80 17x 5 = 85 JEEEEEEEEE 19 x 5 = 95 20x 5 =100

l6x 6 =9 17x 6 =102 18 x 6 =108 19 x 6 =114 20 x =y

N O

16 x 7 =112 17 x 7 =119 N 19 x 7 =133 20 x =140

16 x 8 =128 17 x 8 =136 18 x 8 =144 19 x 8 =152 20 x 8 =160

16 x 9 =144 17x 9 =153 18 x 9 =162 19x 9 =171 20x 9 =180

Square cube 16 x 10 =160 17 x 10 =170 18 x 10 =180 19 x 10 =190 20 x 10 =200

https://amaravathiteacher.com
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Foreword
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The Government of Andhra Pradesh introduced extensive curriculum reforms in school education

from the academic year 2020-21. New textbooks were designed to enhance learning outcomes of the
children with focus on foundational learning. "The more you sing, the sweeter your song becomes; the
more you sing, the best singer you become. Neem-leaf taste changes from bitter to better if you are
regularly used to it. So, practice consistently to become what you want, to get what you want"- Yogi
Vemana. Workbooks are developed to give practice and supplement the textbook with additional
activities related to the textual concepts in a systematic procedure. This workbook is developed to
give ample practice to the student to master the concepts.

Semester system is going to be implemented from this academic year for 1 to 5 classes.
Mathematics workbooks have been developed in bilingual approach. Each lesson in the textbook is
divided into concepts and each concept is provided with a worksheet in the workbook. The concept
taught in the instructional period can be reinforced through worksheets which helps the child to understand
the concept well.

Workbook is developed in continuum with the textbook. In Mathematics, practising the exercises
plays a vital role to understand the concepts. This workbook exercises are more child friendly as well
as teacher friendly to deal with multi-class teaching. The number of worksheets is equal to the number
ofperiods allotted for that unit. Problems given in the workbook are based on real life situations by
following the strategy of simple to complex. Especially word-problems are given importance to inculcate
the interest among the learners. The worksheets are given in such a way that student himself can write
the answer with the help of the concept learned from the textbook.

We are grateful to Honourable Chief Minister Sri.Y.S. Jagan Mohan Reddy for being our
source of inspiration to carry out this extensive reform in the education department. We extend our
gratitude to SriBotcha Satyanarayana, Honourable Minister of Education , Govt. of Andhra Pradesh
for striving towards qualitative education. Our special thanks to Sri. Budithi Rajsekhar, IAS, Special
Chief Secretary, School Education, Sri. S. Suresh Kumar, IAS, Commissioner of School Education &
State Project Director, SS, Smt. Vetriselvi.K, IAS, Special Officer, English Medium Project for their
constant motivation and guidance.

We convey our thanks to the expert team. We also thank our workbook writers, editors, artists
and layout designers for their contribution in the development of this workbook. We invite constructive
feedback fromthe teachers and parents in further refinement ofthe workbook.

Dr. B. Pratap Reddy
Director
SCERT, Andhra Pradesh
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ﬁ ¢ This workbook is compiledittphelpithg/studentetormwetiee tookencepts learnt in the classroom. fk;

| ¢ Teachers need to understand that the number of worksheets are equal to the total number of periods |
for every unit.

¢ Everyworksheet is designed to help the students to practice the concepts learnt in that respective period.

¢ First45 minutes for concept teaching and remaining 45 minutes are allotted for the worksheet. If more
time needed, let the learners make use ofthe leisure time at home to complete the worksheet exercises.

¢ The main objective of this workbook is to make the children to work individually rather than in groups.

¢ Here the teacher acts as facilitator and helps the learner whenever it is necessary.

¢ This workbook will be helpful for multigrade teaching. Period transaction for one class and worksheet
exercises for another class. It is a powerful tool to counter the timemanagement problems of multi-
grade teaching.

¢ Worksheets concretise and make perfect understanding ofthe key concepts learnt in the classroom.
It is very crucial in Teaching Learning Process.

¢ [tis helpful for the teacher to identify the areas where the learners need additional support and thus
teachers can work for remedial coaching. It is mandatory to check the worksheet solutions and do
signature.

¢ Worksheets are constructively designed by keeping in mind the levels of the learners and the strategies
followed are simple to complex, known to unknown, and speed and accuracy.

¢ Worksheets can be helpful for the students for selflearning and it is a great tool for teacher to assess
the students for Formative Assessments in CCE.

¢ Attheend of every unit, an Assessment Worksheet is provided to evaluate the student. It is helpful
to estimate the learning levels of the students and to know how well they involve in Teaching-
Learning Process and grasping the concepts.

Instructions to the parents:

¢ Workbooks are given in addition to the textbooks for more practice.

¢ The exercises of the worksheets will be solved in the classrooms by the students, ifthey need some
more time, they will complete the balance of the work at home.

¢ Itisnot only helpful for the teachers to know the students’ learning levels but also helpful for the
parents to know their children’s progress.

¢ Parents can bring the difficulties faced by their kids while solving the problems at home to the notice
of the teachers.

¢ Worksheets are complementary to the concepts thought in the classroom and it should not be done
before completion of the period transaction. Parents should not force their children to complete the
sheets prior to the period-transactions.

¢ Workbook is to make the Teaching-Learning Process fruitful if you are also committed to encourage

your children in a suggested way.

| ¢ Basedonthe remark of the teacher at the end of the page the performence of the student may be
ﬁ*y understood.

ALL THE BEST

\Y
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Unit I: Let’s recall

The student will be able to
Read and write numbers up to 4-digits.
Prepare the place value chart of4-digit number.
Perform the four fundamental operations on numbers up to 4-digits.
Ordering the 4-digit number by comparing.
Form the greatest and smallest 4-digit numbers with the given digits.
Write the predecessor and successor of a 4-digit number.
Use 4-digit number in daily life.
Determine face and place value of digits in 4-digit number.
Write expanded and short forms of4-digit numbers.
Unit II: Large numbers

333338383

Pupil will be able to

Read and write 5-digit number.

Represent the 5- digit number on an abacus.

Prepare the place value chart of 5-digit number.

Determine face and place value of digits in 5-digit number.

Write expanded and short forms of 5-digit numbers.

Ordering the 5-digit number by comparing.

Form the greatest and smallest 5-digit numbers with the given digits.
Write the predecessor and successor ofa 5-digit number.

Use 5-digit number in daily life.

3832333382

Unit III: Addition
Pupils will be able to
*¢ Do additions with 4-digit numbers.
=& Estimate the sums of two 4-digit numbers.
=& Solve the problems in daily life with the use of addition.

Unit I'V: Subtraction

Pupil will be able to...

Do subtractions up to 4-digit numbers.

Estimate the difference between two 4-digit numbers.
Solve the problems in daily life with using of subtraction.
Correct the mistakes in subtractions and give reasons.
Say the profit of loss in daily life situations.

33333

Unit V: Multiplication

Pupil will be able to...

*¢ Do the multiplications with 3D by 2D numbers.

=¢  Explain sequential steps in doing multiplications with 3D by 2D numbers in different ways.
| =& Solve the real life problems involving multiplications.
‘}’" =&  Write the multiples of given numbers.

e

_—
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Lets's Recall
&% BBomro

Large Numbers

-, V4
oaeg Ldoggen

Addition

Yoo

Subtraction

a6§a6§e>260

Multiplication
foeasedo

September

'z’o't’goa:&:

October
&9532:«‘53

2-21

22-41

42-59

60-80

81-101
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. . 1. Let's Recall ..

SRS Number System i

1. Write the numerals for the following.

a) Six = b) Eighteen =
c) Seventy one = d) Two hundred and forty three =
e) Nine hundred and one = f) Nine hundred and ninety nine =

g) One thousand two hundred and ninety one =

2. Write the number names of the following. (s Sogged ©gored® oeahod.)

a) 8 = e b) 32 = e
€) 195 =, d) 698 = e
€) 955 =, f) 999 = e

3. Write the place and place value of the underlined digits of the given numbers.

S.No Number Place of the underlined digit | Place value of the underlined digit
1 12
2 53
3 456
4 649
5 1761
6 3894

0 ¢ g.o.8
h¥ps+//amaravathitedcher.com Signature of the Teacher

Poor Fair Average Good Excellent
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1. e—9§p°e3€38 [ Doz ©o80&® TocHod.

®) &% = ) ég&)é)a& =
8) aFO 288 = &3) Botd Hoke Seg Hoeed =
&) &6 Sode .88 = &3) &6 Soe &0z b =

2w) 2.8 Jow Bok Hode &oP add =

2. (a3 Joggod e—9§p°e3e38 o°008.)

a) 8 = e, b) 32 = e,
€) 195 S, d) 698 = e,
€) 955 S, f) 999 = e,
3. HBES® ayd Soages® A8 ADS ©oBo EE) o, FIDenien TaHos.
$. o Sogyg A8 RS @08 o ASHRS @08 FIDen
1 12
2 53
3 456
4 649
5 1761
6 3894

o @ . htt;’\aravatmgr com Signature of the Teacher

Poor Fair Average Excellent
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Sub Topic : NS A eI

. Write the expanded form for the following. (D38e Eearen TrcdHod. )

a) 58 =+

b) 444 =+ 4+

)3609 =+ o+ o+
dgs =_  +_ o+ _ o+

. Write the short form of the following number. (K08 8rsHo Tradhod.)

Lo

a) 10+7=__ b) 40+9=_

c) 8+800+2000+90=__ d) 9000 +900+90+9=__

Round off the following numbers to the nearest 10s. (558 SehesH 95809 Teabod.)
a) 12~ b) 26 ~____

C) 64~ d 87 ~__

Round off the following numbers to the nearest 100's. (5558 Sotsos ¥:580D Teabod.)
a) 185~ b) 432 ~

c) 621 ~ d 785 ~__

Round off the following numbers to the nearest 1000's. (&5:58 S0 35800 ToeHos.)
a) 785 ~ b) 945 ~ __

o0 & @ o6
Mips//amaravathiled cher.com & Signature of the Teacher

Poor Fair Average Excellent
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e O i O e SO
Addition (Er8%) |

1. Do the following problems. (8o 8%en FcsHod.)

a) 2 b) 63 c) 785 d) 634 e) 456
+3 +6 + 47 94 39
 —  —  — + 187 + 784

3. Write the correct number in the given blanks. (sr80¢® 8% Soggs T°chod.)

a) 3+5 = e, +3 b) 14+99 =99+ o,
c) 635+1 T + 635 d) 632+245 = ... + 632

e) 684+ ................ = 326 + 684 ) I + 299 = + 764
g) 396+ .o = 687 + . h) 485+....ccccce.n. =969 + ..o,

ol:l @D @D
htt
Poor Fair Average

D e N D o
aravathit aBer.com  Signature of the Teacher

Good Excellent




. » 1. Let's Recall ..
B . T T AT ... A, ...

Addition &&%) |

1. Do the following and compare the totals. (808 Er&gen P, Ivzron Dbeod.)
a) 4+6, 6+7 b) 52+94, 78+92 c) 328 + 258, 458+147

2. Find the sum of zero and the smallest 2 digit number?
Q0% o8 Borosw WP DY) Jogyge IwBo Jod?

3. Find the sum of largest 2 digit number and smallest three digit number?
Bo&ose 8)3%278) ?ofg Dogyg BA» oS 81)%&8) DY) Dogye InEo HoB?

4. Find the sum of the greatest and smallest three digit numbers that can be formed by
using digits 6,9,7 without repetition?

6,9, 7 o8 33603&5 Soeio8e T‘bcgéospé 0BA Seio8e DY) Dogyge 0o do&?

OD @D “sm .|!;D
amarava hitedcher.com™<
Good

Poor Fair Average

Signature of the Teacher

Excellent



. - B 1. Let's Recall G .

_ ECDIEN JEeeewiwecty G
Subtraction (8238) |

1. Find the difference. @FmeQ) 85o/°S08&.)

a) 5 b) 69 c) 67 d) 768 e) 835  f) 861
-3 -4 -23 - 495 - 569 - 25

2. Write the correct number in the given box. (s K&&° 885 Sogg Teabod. )

a) 9-6 = b) 25-17 =
c) 800 - 532 = d) 873-367=
e) 904 - 467 = f) 924 -209 =

g) 939 - 678

h) 987 -409=

‘ll!!ll‘:] <:::::::;[] O O T
C http.\a aravathitse
Good

. ercom  Signature of the Teacher
Poor Fair Average

Excellent




. - 1. Let's Recall G, -

T B e R S
Subtraction (8238) |

1. The sum of two numbers is 93. If one of the numbers is 56, what is the other number?
30 éosp?sep Swgo 93. oSt a8 éospé 56 3 3o&d 260&)?3 Q0es?

2. The difference of two numbers is 65. If one of the numbers is 48, what is the other
number? 3o éosp?sep 25365?3 B&o 65. a8 éoap?g 48 08 Bokd éosp?g Q08 ?

3. Find the difference between the greatest 3 digit number and the smallest 3 digit number?
SoeEose &bé&@) 'zbfg Dogg 0B oS &3%&@ DY) Dogydd &y B0 dok?

4. Inacricket match, runs scored by the two teams are 342 and 203. What is the difference
between their scores? e.8 (8¢5 Kmmg56® Bot esty DS Hoiben 342 O 203 &3
Bo b D2S H&He 065 B0 Nos?

°o & & @.¢..
amarava hiteacher.co
Good

m
Poor Fair Average

Signature of the Teacher

Excellent



B - B 1. Let's Recall G

,,,,,,,,,,,,,,,, br All Classes w% % B i |
Sk https:%ﬂg%ll- %ﬁg- ex@oook """""""""

S{i[oMe]o] [ Multiplication (i$ese80)
1. Do the following problems. (8o 8%en FcsHod.)

a) 4 b) 8 c) 5
X 5 X 6 X 7
e) 78 f) 95 g) 95
x 9 X 6 x 8

2. Do the following problems. (8o& 8%e» Baod.)

a) 4x3 = — b) 8x7 = —
c) 32x1 = — d) 48x8 = —
e) 53 x 7 = — f) 76x8 =

d) 45
x 4

h) 100
x 9

d

https:/Za aravathitSaghe

Poor Fair Average Good Excellent

fer.com Signature of the Teacher



; 1. Let's Recall |
—— | Qeroesinct® .

S{i[oM ool [ Multiplication (i$ese80)

1. A box contains 8 oranges. If there are 6 such boxes, how many oranges will be there in
total? &8 2SE* 8 b0z Dot T, 08 winod 6 P Y Tooe HOLY GoLraD?

2. Cost of one book is ~ 25. What is the cost of 6 such books? &.8 X80 96 ~ 25 8
@508 6 HITe POB Jos?

3. Prepare the following tables. (& 8o& Heoses H&Een S5 BRDH0E.)

(x1=__ Ox1=__ 13x1=__ 16x1=__
1Tx2=__ Ox2=__ 13x2=__ 16 x2=__
7 x3=__ 9x3=__ 13x3=__ 16 x3=__
(x4=__ Ox4=__ 13x4=__ 16 x4 =__
7 X5=__ 9x5=__ 13x5=__ 16 x5=__
/xX6=__ 9x6=__ 13x6=__ 16 x6=__
(x{=__ Ox7=__ 13x7=__ 16 x7=__
7x8=__ 9x8=__ 13x8=__ 16 x8=__
7x9=__ 9x9=__ 13x9=__ 16 x9=__
7x10=__ 9x10=__ 13x10=__ 16 x10=__
@ 0 0
9 @ ngéamaravz!cher corggt Signature of the Teacher




B § 1. Let's Recall W~

Sub Topic : DV N |

1. Do the following. (8o& 8%e» Baod.)
a) 8+2 b) 9+3 c) 150+6 d) 282+8

2. Write quotient and remainder for the following. (808 grriStoren I griieo, FHo
oraol.)

a) 64+4 b) 95+7 ) 640+5 d) 729+9

3. Divide. (erAoB50&.)
a) 84 by 6 b) 404 by 7 Cc) 546 by 6 d) 5545 by 5

o v & .8 ©
https:/Za aravathitSaghe
Good

, rer.com Signature of the Teacher
Poor Fair Average

Excellent



T e 1. Let's Recall T
o QEE ey CAEEE

Sub Topic : PRIt |

1. 6 apples were shared equally between 2 friends. How many apples did each one get?
(acgéa ?So&bééae» 6 0SS Dok dLeSore H505H%08E, 2.8%98)08 A Doy SPon?)

2. 24 mango trees are planted equally in 6 rows. How many trees are there in each row?
(24 S E’mé&oéa 6 SBdest Yirdorr orerd. &5827 BN SVSISVEPNIY S0 Bwéée»
&0oePon?)

3. How many 5 rupee notes can you get for = 100? (100 SrarchesH ) 5 Grarche

TPeen HPon?)

4. Balu bought 7 kg onions worth ~ 350. Find the cost of 1 kg onion. (eren ~ 350 %)
7 8. edrFen S, 03 &8 8. (. SIlglals PO DoB?)

5. The product of two numbers is 91. If one number is 7, what is the other number? (Bot

éosp?go 00 91. @&t 2.8 260&)?3 7 08 Bo&d E603p§ D0es?)

OD @D “sm .|!;D
amarava hitedcher.com™<
Good

Poor Fair Average

Signature of the Teacher

Excellent



1. Let's Recall ===

ir All Classes, %%?#( 85;; Below Li J :
"""""""""""""""""""""""""""""""""" https:m a - Qx- ex&)ooks
.

g oecHod.)

S{i[oM ool [ Measur

ement seosen) ||

Mention some objects which are weighed in Kilograms. @&¥rsned® 03 59 $ade

Mention some objects which are weighed in grams. ((riwos® 508 &) $ade D8

o°0n0&.)

Draw some instruments that we use to measure the weight of objects? (2% Sodwe8
SEHDTA0T HOET® Skyen 5 AcH0&.)

Complete the table. (g8 808 $&E FrdoSol.)

S.No.

Contents (£s59e0)

Weight in Kg./gm.(approximately)

25 (rswen Soe 88° (rswest Sendro)

— " /R
BISCUITS Sy

S

sindstg

& © ©
htt

Poor

Fair

D
ps://amaravathi

Good

Average

=)
t r.com Signature of the Teacher

Excellent



1. Let's Recall

B gl e o 2
Measurement Eodes) |}

1. What are the instruments we use to measure the length of the objects? (509 SeEHen
oS8 GHEPA0T FSen OD?)

2. What are the units of length? (P& Fodmrdd (Hdreao dd0d?)

3. Write the names of three objects whose length can be measured in meters. (€&
3’ 50T Q) HHe D) T°cHod. )

4. Write the names of three objects whose length can be measured in centimeters. (€50
208658 0T Q) $He D T°aHos.)

5. Name three objects whose lengths can be measured by using a Scale. (ye08° &0
FoSKOR &) Sdyde oazég o°c08.)

o & © 0.%2..9
/amarava cher.com Signature of the Teacher

Poor Fair Average Excellent



1. Let's Recall

e e
Measurement Eodes) |}

1. Give examples for some liquids which are measured in litres in our daily life.
58 Berard £DB08® g’ £O B (58 Sorrreds BoBhod.

2. Give examples for some liquids which are measured in millilitres in our daily life.
5 Seraed £D808® WHOHLIES® 0T &) BHITTOH SoDdobk.

3. Write some instances where liquids are measured by more than one litre.
et BT BN $05re08® (Baredh SO §°Q) dodonen Teahod.

4. Write appropriate units for measuring the items given below.
BD SNV TRo° SOatIlal (Bere SPoded (55r8an) oradol.

S.No. Item (55059) Capacity measured in | / ml.(approximately)
(%.30.) $85me0 (D / 08 derdy)
1.

. -

<q-&=
S
—
e
@ @ .0..0 ®
o https:/aaravathit r.com Signature of the Teacher

Poor Fair Average Good Excellent



1. Let's Recall

B i e o
Time @so) |

1. How many months are there in a year ? Write the names of them.
2.8 DoRBI0IH 08?7 o0& 8 T°H0d.

2. How many days are there in a year? (&8 50385055 dQ) &%eren?)

3. How many days are there in the month of April? (@S IoB I Seren?)

4. Write the names of months with 30 days only.
(a8 éoéé{géo@s 30 &faren 2530@33 &06 I08?)

5. Write the date of birth of you and your friends in DD/MM/YYYY form.
8, 8 '(30018?@3@ a’g)@éééﬁ 36/ o/ doH&Bo BrH08° TOH0d.

® & O 0.%2..©
/amarava cher.com Signature of the Teacher

Poor Fair Average Excellent



1. Let's Recall

br All Cla%\téﬁgﬁﬁﬁg elow L
https: ext-books

3.

Sub Topic : RITENGEN

Write the number of minutes for the hours given below. Ko¢es dwarec®d $rd)od.
a) 1 hour (1 Koe)
b) 3 hours (8 Koéren)

¢) 5 hours (5 Koéren)
d) 6 hours (6 Koeren)

Write the number of equivalent hours for the following minutes. (Kote&® Lr8yod.)
a) 120 minutes (120 doaren)
b) 240 minutes (240 JdXwaren)
c) 420 minutes (420 doaren)

Observe the clocks given below and write the times shown by them. (35005 Trabod. )

o @ @ htt;’xaravathlt acht

Poor

Per.com Signature of the Teacher

Fair Average Excellent



1. Let's Recall

B i e o
Geometry |

1. Write the names of the objects which are in round shape.

2. Write the names of the objects which look like a box.

3. Write the names of the objects which have either a flat surface or a curved surface.

4. Complete the following table.

S.No. Name of the object Draw the shape of the object
1. Dosa O
2 Book
3. Matchbox
4. Laddu
5. Chalk piece box
6. Carrot

© & O 0.%2..9
/amarava cher.com Signature of the Teacher

Poor Fair Average Excellent



1. Let's Recall

L o RS PR EIORRE,
https:/éaesyrall- -New-1ext-books
-

®o0¥0 : 2508

1. %olEd esdo Ko $He DL TroHod.

2. 2§ ese80S® o SHe D Trehod.

3. HoE oo KONS & SQHe B B Q&) BOAS Q) SHe 8 TPoHod.

4. a’aégézéa HrdoBos.

S, Dogy S8 D 30D essedo
2 Jo
3 N DE3
() [
4 [STah)
(&}
5 éatﬁ?éwé&e; 28
Q )
6 B85

ol:l @D D
htt
Poor Fair Average

e ©
aravathit r.com Signature of the Teacher

Good Excellent




1. Let's Recall

rAiﬁi%@;ﬁ%ﬁ@ﬁ?ﬂ%ﬁ@ ]
Fractions ®~en) |

1. Tick (3) the figures which are divided into equal parts.
351 eerrenre DFBosadS Hered (V) D8 GoLol.

] ] ] ]

A\ A=
/) —

] [ ]

2. Shade exactly half of the given pictures.
Ji5eriods Borh S0Hod.

L] ]

dah
NI

o ® & @ .0 8
nips7lamaravathiled cher.coma” Signature of the Teacher

Poor Fair Average Excellent



1. Let's

Recall

L o RS PR EIORRE,
https:/éaesyrall- -New-1ext-books
-

SV Data Handling ($acod Q8:ees) |

1. Write tally marks for the following numbers. (Kess D55%)e0 Teabod.)

1 2
2 3
2. Write the tally marks for the given number of students. (Sogge Keesd Dsen Teahod.)
S.No Number of students Tally marks
(é.éosp?g) (S)m'gt%e) éosp?g) (Kead {’Dcﬁgoa)
1 3
2 4
3 2
4 3
5 4
3. Complete the following table. (£8% r8os0d.)
S.No Fruit Number of fruits Tally marks
Q. éogp?g H0&H Do éoapeg Kead DSHeo
| W :
2 rb’ :
=
3 ‘ 1
4 ' I
s | @ 4

S.No (. 8083)

Number (oo8)

Tally marks (e 955=)0)

& © ©
7 htt

Poor

Fair

@xﬂ
p aravathi

Good

Average

QD
1t r.com

Excellent

Signature of the Teacher



.

e 2. Large Numbers G

7777777777777777777777 br All Classes gﬁm Open Below Lj
""""""""""""""""""""""""""""""" https://bit. classe
-

-text-books
Eim Representing the Numbers (Soggod Sdaro) I

1. Represent the following numbers on the spike abacus. (25 Soggod S0
SPdoby Hrde Seodt faéao&.)
a. 64,327 b. 78,888 c. 84,020 d. 90,069

2. Write numbers in the given boxes by reading on abacus. (:rdes(Erd) $88900), ayd
Dot 088 Dogygen o°0n0&.)

|
o
K

Wps+/amaravathiledcher.com Signature of the Teacher

Average Good Excellent



2. Large Numbers
L e R ORI oo -

SR oeI[vBl Number Names (Soggen)

1. Write the number names for the following numbers. @&y Soage H&) wgtred® ooabod. )

27,453 Twenty seven thousand four hundred and fifty three
BEF DD Fo TeenrH Hose AiPFKD

45,064

56,430

62,354

81,918

98,765

99,999

2. Write the number names for the following numbers by keeping commas. (a2)s Sogge®
B8 e ¢, 7 198y 60D ©FTres® trhod. )

23147

40608

47300

55655

70008

80000

90504

OD @D @D D
https://afaravathi
Good

Poor Fair Average

) (23
r.com Signature of the Teacher

Excellent



2. Large Numbers

pr All Classes %'@@g& Open Below Lj
https://bit. classe -text-books
.
Numbers

1. Write the numeral for the number names.

a) Five thousand six hundred and sixty six.

b) Ten thousand four hundred and sixty five.

¢) Eleven thousand one hundred and eleven.

d) Thirty thousand six hundred and four.

e) Forty thousand five hundred and three.

f) Forty four thousand one hundred and twelve.

g) Fifty thousand and sixty two.

h) Sixty three thousand two hundred and fifty seven.

o0 T 9.9 8
amarava Rifedcher.com'™
Good

Poor Fair Average Excellent

Signature of the Teacher



2. Large Numbers

br All Classes N T@@B @Open Below L
https://bit. Iﬁé é)!ﬁ text-books
DI d0g0en)

1. e—9§p°e3e3£ 2D Dogye woges® orcHod.

) 0 I € Sode O3 .

&) HO Jo e Sode 983 8.

8) DB Fo el 508 HEE .

83) S0 3@3 S DoBe Teeni.

&) J0F Tend Fe 8 Soike K.

&) Jog Trentd Jo af Ho8 HIHok.

2w) 653 So 983 Bok.

Q) @B LeH Fo BoH Hode o .

o @ . htt;’xaravathlt aéer.com Signature of the Teacher

Poor Fair Average Excellent



2. Large Numbers

pr All Classes SN’%'@% Open Below Lj
https://bit. classe -text-books
G

ﬂ’m Short form of the Number (Sogge 208 cﬁ%ol

Write the number that has (g% ErHost K05 A Sogry oS orobhod.)
1. 1 ten thousand + 9 thousands + 4 hundreds + 5 tens + 8 ones. (e.8 $83en + 9 Jen +
4 Solen + 5 Hethen + 8 2.8¢n)

2. 3ones, 2 tens, 6 hundreds, 7 thousands, and 4 ten thousands. (3 e.8exn + 2 Hoen + 6
SoBen + 7 Jen + 4 HOZew)

3. 6 ten thousands, 8 ones, 2 hundreds and 3 thousands. (8 z.8¢xn + 2 Sodken + 3 Jen +
6 H0Fen)

4. 5 ones, 8 hundreds, 4 ten thousands and 7 thousands. (5 e.8¢x + 8 Sosen + 7 Jew +
4 HBSen)

5. 8thousands, 2 hundreds, 6 ten thousands and eighty. (e.88 + 33 + 2 Soden + 8 Sen
+ 6 H6Fen)

© @ O 9.5
amarava hiteacher.co
Good

Poor Fair Average

()
m Signature of the Teacher

Excellent



2. Large Numbers

br All Classes N T@iﬁ @Open Below L
https://bit. Iﬁé é)!ﬁ text-books

Elm Place Value (3;:6 Qend) I

1. What is the place value of '8' in each of the following numbers? One is done for you.

(2 éoapge;é’s ‘8 3(;268)0325 o°CH08. 2.88 stbo ToHhadde.)

a) 24,381  : 8tensor 80 b) 36,008
c) 48,069 d) 82,462
e) 95,837 : f) 98,999

2. What is the place value of '4' in each of the following numbers. @)% Sogges® 4’

3(;268)@326 T°0%008. )

a) 4,327 : b) 6,054
c) 47,358 d) 54,001
e) 84,932 f) 95,403

3. What is the place value of '6' in each of the following numbers. @)% Sogges® 6

3(;268)@326 o°0%08. )

a) 30,964 b) 54,326
c) 62,493 d) 64,387
e) 86,300 f) 93,603

4. What is the place value of '0' (zero) in each of the following numbers. (2Qy$ Soggos®

‘0 @(;2683@326 o°0%008. )

a) 10,481 b) 21,590
c) 35045 d) 50,346
e) 83,045 f) 95,480

o ¢ @ .8 @
http aravathitsa ~ r.com Signature of the Teacher

Poor Fair Average Excellent



2. Large Numbers

pr All Classes g&@&g Open Below Lj
https://bit. classe -text-books
G

S{i[om[eo][da Place value (a;m@s@)l

1. Write the place and place value of the following underlined digits. (8o& Sogges® A%

ADS @08 Go%), ﬁgézﬁw, 3(;268)@326 oPO%008&.)

S.No. Number Place Place value
5. Ko 08 P50 PN
1. 4529 Sedoen 20
2. 33862
3. 53693
4, 60349
5. 65709
6. 72305
7. 86924
8. 94269
9. 95008
10. 95260

© @ O 9.5
amarava hiteacher.co
Good

Poor Fair Average

()
m Signature of the Teacher

Excellent



2. Large Numbers

br All Classes N §}?§P§%§ Open Below L
https://bit.l%iz classe -text-books
G

SN[ Expanded form of the Numbers (Soggen-dide ko) I

1. Write the expanded form for the following numbers. (22y$ Soage E0E) OJBes B0
o°ono&.)

Number (Sosgy) Expanded form (238 8xs0)

3,654 3000 + 600 + 50 + 4

9,090

27,453

45,064

47,300

60,024

70,008

2. Write the short form for the following numbers. (@S JBes Brard8 Ko drdo
o°on0&.)

Expanded form (D88es &50) Short form (%083 &r%0)
6000 +200+90 +5 = 6,295

30000 + 500 + 30 =

40000 + 6 =

40000 + 5000 +40 +9 =
50000 + 2000 + 300 + 50 + 6 =
60000 + 600 + 6 =

70000 + 3000 + 8 =

80000 + 8000 + 800 + 80 + 8 =

OD @D D @xﬂ
7 http aravathi
Good

Poor Fair Average

i (29
gr.com Signature of the Teacher

Excellent




2. Large Numbers

pr All Classes SN’%'@% Open Below Lj
https://bit. classe -text-books
G

E’m Comparison of the Numbers (Sogge Qﬁe:z)cio)l

Put the correct symbol >, < or = in the place given. (8od gr@esi(>, <, =) K&k

60508, )

1) 4158 [ ] 4518 2) 99,999 [ ] 89,999
3) 85458 [ | 85548 4) 68,948 [ | 78,949
5) 93508 [ | 93,607 6) 14764 [ | 41,467
7) 37523 [ ] 37623 8) 20,000 [ ] 30,000
9 33133 [ | 31,333 10) 96485 [ | 69,487
11) 64024 [ | 64,204 12) 68,740 [ ] 86,740
13) 44735 [ | 42475 13) 30,685 [ | 3685
15) 20,120 [ ] 20,220 16) 39,800 [ ] 39,900

© @ O @.5
amarava hiteacher.co
Good

Poor Fair Average

()
m Signature of the Teacher

Excellent



2. Large Numbers

br All Classes N é'@&ﬁ Open Below L
https://bit.l%g classe: -text-books

Ascending order and descending order (8% $0ck ©58%Fn ko) I

1. Arrange the following group of numbers in ascending order. (22y$ Sogry Do

&% (B0’ TrahHos.)

a) 94,252; 76766; 70,342, 87,132

b) 37,928; 92,988;  61,365; 92,123

c) 12,348; 24,367; 67,238, 55,550

2. Arrange the following group of numbers in descending order. (s2y$ Sogrgdsumestes

@EéSSK?satééaoeS‘g o008, )

a) 98,887, 9,887; 8,887; 90,887

b) 86,465; 84, 665; 86,654; 86,546

c) 18,102; 81,201, 15,801; 36,802

¢ @.g.0 ©
o httpsillarharavathitSaker.com Signature of the Teacher

Poor Fair Average Good Excellent



2. Large Numbers

pr All Classes SN’%'@% Open Below Lj
https://bit. classe -text-books
G

The Smallest and the Largest Number (25 Soggeo - DY doggen)

1. Circle the smallest number. (25 Soggs &y Sogol.)

a) 36,506; 58,092; 89,092; 68,092

b) 65,252; 9,077; 31,593, 68,686

c) 98,234, 36,707, 64,994, 24,322

d) 05,790; 07,590; 05,970; 25,790

2. Circle the largest number. (3¢ Soggs Sy Hego.)

a) 59, 580; 64,580; 32,580; 89,580

b) 65,932; 56,392; 60,932; 86,392

c) 15,111; 51,111; 15,101; 51,101

d) 91,992; 92,991; 19,992; 92,929

o ® & @ .0 8
nips7lamaravathiled cher.coma” Signature of the Teacher

Poor Fair Average Excellent



2. Large Numbers

br All Classes N §}?§P§%§ Open Below L
https://bit.l%iz classe -text-books
G

SN[ The Smallest and the Largest Number (%) Soggeo - Eacg Soggen) I

Complete the following table using the digits in second column without repeating the
digits. Bogs K&s® 3OS oS GIEPACD Koggwid BB T0H08.)

S. No Digits Largest 4-digit number Smallest 4-digit Number
$.%0. (©08e) (4 - ©080 D&Y D Kvoxy) (4 - ©oBo DD O Hogg)

1 5,6,2,7

2 4,1,3,5

3 9,24,7

4 6,2,4,8

5 6,8,0,2

6 1,2,6,3

7 5,0,3,1

8 4,3,8,5

9 9,6,5,7

10 2,1,0,3

11 6,8,9,2

12 7,5,0,1

OD @D D @xﬂ
7 http aravathi
Good

Poor Fair Average

i (33
gr.com Signature of the Teacher

Excellent




2. Large Numbers

pr All Classes oks Open Below Lj
https://bit.g%c% -text-books
mim Predecessor and Successor I

1. Write the predecessor and successor for the following numbers. One is done for you.
B0 éosp?séa K00 éospé; BB 260313?3@263 o°Ono&.

a) 37698, 37699, 37700

by . 50431,
¢, 49500,
d ., 7638,
e) ., 1638,
fy ., 34035, _

2. Write the number that comes just after and just before the given number.
B éosp?séa S0 H) EBoard éospé 0B Kot ‘K)osp?széa T°OH0&.

a) 71,986,

b) 68,323,

) 38,205
d 59,360
e) 60,000
f) 46,230

o0 ¢ @.6.0
hips+//amaravataifeacher.com Signature of the Teacher

Poor Fair Average Good Excellent



2. Large Numbers

br All Classes N T@iﬁ @ pen Below L
https://bit. Iﬁé é)!ﬁ text-books

@o%o B 500 Dogg; Soaed ‘éospegl

3. Do the following sums. (8o& 8%en Baod.)
a) Write the successor of the largest three digit number? =...........ccccooieiiiiienien,

®) Srdose 8O 005 SBrard KSogys 6? S e
b) Write the predecessor of the largest three digit number? = ........c.ccooviiiiiii e

®) SorEo8y 080 E00g5E Loy bogs B? e

c) Write the predecessor of the smallest three digit number? =..........cc.ccccovveiiiiee e,

&) NorEose 8))%&8) &é&‘éoao?gé) R000ER) ‘éospé 6? s

d) Write the predecessor of the smallest four digit number? = ............ccccoeeeiiiinnenn,

&3) TreniosSe 8))%&8) Qé&éospééa 0000 260&)?3 A6? s

4. Frame questions for the following statements.
808 HdE To5eB Y0200 (e B0 B000E.

a) The predecessor 0f45,9251545,924. Q. ..ccoovviiiiiiiiiee e
®) 45,9255 oot Sogyg 45,924 BB) & terere
b) The successor of 82,999 is 83000. Q. ..eeveiiiiiiiiiiii e
©) 82,999 L SBars Jogg 82,300 BB e
C) The successor of 24,444 1S 24445, Q. .veeeiiieei it

®) 24,444 S S%ard Jogy 24,445 BB 1 e

o @ @ htt;’xaravathlt ' bl

Per.com Signature of the Teacher

Poor Fair Average Excellent




2. Large Numbers

pr All Classes Open Below Lj
https://bit. giﬁ}?% -text-books
S{i[oM ool [ \Word Problems (o°&8%)en) I

1. The prices of 4 air conditioners are ~ 57860, ~ 58760, ~ 58860, ~ 56780. What is the

cost of the cheapest air conditioner?
e B8OE8e cholere $Ben SEde  57860; © 58760; © 58860; ~ 56780. ©&

FBE B B Dos?

2. Population of Lakshadweep in 2001 was 60650 and in 2011 it was 64473. In which
year the population is high?
OBE® Go¥) esrgre 20018° 60,650 5605w 20116° 64,473 SZrEI6. O SodEBos®

23T°gT° DEYD?

© 6 O 0.2..9
/amarava cher.com Signature of the Teacher

Poor Fair Average Excellent



2. Large Numbers

or Al Classes N Below L
hpeo S BOEER Coi
S{U[oM ool [ \Word Problems (o°&8%)en) I

3. The teacher asked Madhu to write the numeral for fifty four thousand and nine. He
wrote 540009. Was he correct? If not, what is the correct numeral?
B85, 25 &% QTRGRD DO “ArFarenrhie FNO” D @08’ TEDLNT HKH BOTRR.
B0 esaeen 5,40,009. 26 IBIAT? SPENS 5oy 8O T

4. Ina petrol bunk on Monday, Tuesday,Wednesday 13750 I, 18640 I, 14832 | of petrol
was sold respectively. What is the highest quantity of petrol sold during these days?
a8 EPSwo%HS® P, HoKY, wFarores® SSHdme 13750 g)éaiég; 18640 é)eacig,
14832 dexg (een ©nEo 2:0A0d 8% BN DEPen oiyto wdAch?

0 D

o @ @ htt;’xaravathlt Her.com Signature of the Teacher

Poor Fair Average Excellent



2. Large Numbers

pr All Classes SN’%'@@%‘ Open Below Lj
https://bit. classe -text-books

S{U[oM o] o] [ AsSessment

1. Write the number names for the following numbers by placing commas.
a) 34786 S otteteerersereeereeseeessseessreesteseseeestessteseseeeieesiereesareinteeaneeeateeitersaressieesseens

) N3 OO

2. Write the numerals for the following number names.
a) Eight thousand five hundred and sixty five. T e —————————
b) Fifty six thousand eight hundred and seventy two.  =.....cccccoeiiiieiiiecc e,
c) Eighty four thousand and sixty three. T e —————————
3. What is the place value of 2 in each of the following numbers?
a) 15,832 :
b) 32,654:
c) 45,296 :
d) 68,427 :
e) 29,986 :
4. Write the expanded form for the following numbers.
a) 6,834 =
b) 32,967 =
c) 89,006 =
5. Write the short form for the following numbers.
a) 4 000 + 200 + 60 + 8 =
b) 60 000 + 3000 +800 + 2 =
c) 80000+500+70+9 =

©o @ & @ o @
amarava hiteacher.com S
Good

Poor Fair Average Excellent

Signature of the Teacher



2. Large Numbers

br All Classes N T@iﬁ @Open Below L
https://bit. Iﬁé é)!ﬁ text-books

===

1. 806 D0 TS ey ¢, DB 0808 HBASL s e—9§0°e>e3‘s o°OH0&.
) 34786 e eet e eereeeeteeesteeeeaeeeeaeeeetaeestterettesertaneetteretenteret et e

&) 71652 TP PT PP UPRRPPRRTIS

2. @ﬁééﬁéoé‘s o) A éospéee’i‘s 8)od.

2) AAWE Jo 0EHIose 83 8w T ettt eteeeeeeateaneanranrantaareaneaaareareanranraneaas
©) DOBDHI BHH0LY BB 8% T eteeeerre e e e e e eba e e taeerrreeetaeerreeanes
3) APTHRO @BJ07 T ettt

3. 80b Sogges® 2 @Y FKND BoHS.
®) 15,832 :
©) 32,654:
) 45,296 :
&3)68,427 .
€) 29,986 :
4. 8ob Dogged DYBes ErHos® TreHod.
®) 6, 834 =
©) 32, 967 =
5) 89, 006 =
5. 80b QYBe ErardS KofH) ErHo Trahod.
®) 4000 + 200 + 60 + 8 =
) 60 000 + 3000 + 800 +2 =
%) 80000 +500+ 70 +9 =

¢ &.o.8
http aravathitsaght @

eher.com Signature of the Teacher

Poor Fair Average Excellent




2. Large Numbers
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G

6. Put the correct symbol < or > or = between the given pairs of numbers.

a) 32563 [ | 74389

b) 63,568 63,368

7. Arrange the following numbers in ascending order.
26,894; 62, 890; 48,960; 34,563

8. Arrange the following numbers in descending order.
89,999; 93, 432; 25,438; 75,964

9. Circle the largest number.
a) 32,121 42,121 31,221 62,312
b) 48,366 38,636 78,636 38,363
10. Circle the smallest number.
a) 64,532 63,253 64,523 63,523
b) 82,641 83,641 86,341 86,461
11. Complete the following table.

Number Predecessor Successor
25,897
45,999
68,000

12. What is the predecessor of the smallest five digit number?

°o O & @9 O
amarava Q Cher_com ’,:'(
Good

Poor Fair Average Excellent

Signature of the Teacher



2. Large Numbers
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6. ¥BS 8 (<, > Soe =) o &oSos.

a) 32,563 74,389
b) 63,568 63,368
7. 808 Soggeo &% [Ero8® Trohod.
26,894, 62, 890; 48,960; 34,563

8. 8ob Dogged 0585 [Eros® ocahod.
89,999; 93, 432; 25,438; 75,964

9. ad)d &S T‘btg‘éospéé) oy iﬁD%O&.
a) 32,121 42,121 31,221 62,312
b) 48,366 38,636 78,636 38,363
10. 2d)d &S DY) Doggdd Wy’ iﬁaéégo&.
a) 64,532 63,253 64,523 63,523
b) 82,641 83,641 86,341 86,461
11. ééé:& JrBoLod.

éogp?g Ao ‘éosp?g B8 60&)?3
25,897
45,999
68,000

12. ®&o8® 8)3%&8) DY) DogEd Koot DHogy AB?

® © © 6.6
httpsslatharavathits
Good

, ber.com Signature of the Teacher
Poor Fair Average

Excellent



3. Addition

Gl - A
SITomKe]o][elll 4 - Digit Addition with out Carrying (Seenid @oSe Er&Sen)

1. Do the following Additions. 808 &r&8en IcHod.
a) 3645  b) 4237 c) 3652 d) 6231 e) 7125
(+)2143  (+)3541 (+)4237 (+)3768 (+) 2561

2. Add 6120 and 3524. (6120 $580%» 35240 Srkod.)

3. Add 4263 and 3651. (4263 $5:805» 36510 Srkod.)

4. Find 3521 + 5324. (3521 + 5324 © JIndo dod ?)

5. Find the number which is 2340 more than 5328. (5328 $o& 2340 gore Ko Kogy H6?)

@ @ O 9.5
amarava hiteacher.co
Good

Poor Fair Average

()
m Signature of the Teacher

Excellent
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Word Problems Addition With out Carrying
Jo¥oloRn TrE SHew

1. Adilaxmi, member in a self help group, deposited =~ 5600 towards savings and
" 2150 for loan installment in Andhra Bank. How much total amount did she deposit
in the bank?

a) What information is given in the problem? ..............cccoceiiii.

b) What is to be found ? .......oooeviiiiiiinee

¢) Which process do you follow to solve the problem ? ...........ccovveeeiiinnnen.

@&e;%g/, D330 JF8AE Sogo éap’ogme;o, T 5600 o 'fo&)oﬁ“) 88 HodaAsw
T 215005 ewee aronte 80 @rgoHE® ek D, wand WD @i D19 Wdo PN
Qo&B?

) & éaﬁaé?gés SN D3eTeE0 AWE? L.

@) &8 DKy TRO° ] ézéagsézée?oo& A ? e

8) & Dy PP $rRy oHBHRF) (DBBAH DWE? .vviiiiiiii

2. Adilaxmi, member in a self help group, deposited ~ 5600 towards savings and
" 2150 for loan installment in Andhra Bank. How much total amount did she deposit
in the bank?

a) How much amount is deposited by Adilaxmi for savings? ............cccceevveenn,

b) How much amount is deposited by Adilaxmi for loan installment? ..........................
¢) What do we do to find the total amount deposited by Adilaxmi? ................ccve.e.

©0e§), ¥yoho $FBaHE Ko dehsoeen, T 5600 ok ?Soc‘i)oﬁ“) 8% 85w | 215008
20069 POV E°%0 as;soéaé‘s 2350 W0, WaNS e W BV Swgo @"2633& 20 ?

®) @&QJ%); ‘08)083 5% 230D s?wzéwé QOB

) 8do§) Soaranm® §%0 adUE BPE0) JOB? ..o

) @&@% 250813 Bl s3°£ﬁw& Be0EK060E) K050 D BATOD? e

® ¢ @@ ®
http aravathite :

aeker.com Signature of the Teacher

Poor Fair Average Excellent
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Word Problems Addition With out Carrying
Qoo TrE SHew

3. Adilaxmi, member in a self help group deposited ~ 5600 towards savings and
" 2150 for loan installment in Andhra Bank. How much total amount did she deposit
in the bank?

Money deposited for savings =
Money deposited for loan installment =
Total money deposited for both =

3. ®hef), oho BSBaNE Yoz bghgoeen, T 5600 o ?Sog)oﬁ“) 8% 850 | 215008
ames Jronte 550 erjoHS® a3 B, wond 6 @i V1Y Fwdo o5y oB?
oM E°BK es0BRD &rasoy = "~ 5600
2measeont® 8550 wHBR1S ey = ~ 2150
2 TR0 Fwdo Aoy © 5600 + 2150

4. Adilaxmi, member in a self help group, deposited ~ 5600 towards savings and
" 2150 for loan installment in Andhra Bank. How much total amount did she deposit
in the bank?

4, @&@%gj B33800 JFBAE Sogo K)e;fo§c°oo, T 5600 o 'fog)oﬁ“) 888 HodaAsw
T 215005 ewee aronte 80 @rgoHE® ik Dk, wand W @i D1 Indo AN
QDo&B?

OD @D “sm .|!;D
amarava hitedcher.com™<
Good

Poor Fair Average

Signature of the Teacher

Excellent
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Sii[oMe]o][v8a \\/Ord Problems on Addition (Rofedoa o°d Béae») I

1. Inamarriage function 1352 water bottles in the first and 1514 water bottles at the end

were served. How many bottles were served in total ?
2.8 Daes Dotk SPeard8 Insey 1352 a8 erdSerdy IARA0ND SHHd 1514 a8

BSOH QABrAoSe Sngo DIRBFA0DD T°¢b ey I)?

2. Kamala sold 3210 candles and Vimala sold 5346 candles during Diwali season. How

many total candles did they sell ?
BFHY HokrisH Bde 3210 FFHo o 5346 S Ee T TBELL EO

O E°TREe0 AY)?

& @00 @
o hitps:/lar aravathitSagher.com Signature of the Teacher

Poor Fair Average

Excellent



3. Addition

L oy MO BRI, 10 ook
Sii[oMe]o][v8a \\/Ord Problems on Addition (Rofedoa o°d Béae») I

3. Govind distributed 2346 books and 1523 plates to the students on the occasion of his
son's birth day. How many items were distributed by him?
FED08 &8 B DES &oew Qodigyone Aargthes 2346 HYseeRn, 1523 D05 HodB

T, 05D HodHd TS Iwdo ShHeo IY?

4. Aravind sold cotton worth ~ 4324 and jute fibre worth = 5025 in the market. How

much total amount did he get ?
©8208 * 6324 0 B, * 5025 0B BIBTEH $rGES° wRn. © BodoBI iy

@& Pohdd @“é})& Jo&B?

© 6 O 0.2..9
/amarava cher.com Signature of the Teacher

Poor Fair Average Excellent
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ﬂ’m Addition with Carrying (bvzézssaag& Er&Ben) I

1. Do the following. (8o& &r&&en FcHod.)
a) 7364  b) 8923 C) 5624 d) 4849 e) 6499
(+) 2564 (+)1049 (+) 2417 (+) 4603 (+) 2561

2. Add 2542 and 6870. (2542 0805 6870 oo ErEod.)

3. Find 6589 + 8763. (6589 + 8763 & 3Indo dod ?)

4. Find the number which is 6534 more than 7026. (7026 Sosy $0& 6534 2 Sogg 26?)

5. Complete the table. One is done for you. (808 5885 HrooKos.)

+ 6849 4567 3984

2980 9829

8642

7293

OD @D D D
https://amaravathi
Good

Poor Fair Average

i D
gr.com Signature of the Teacher

Excellent




3. Addition
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httpz:sit?if.Imégs%g&;\ésw-tgst-boiss
STORISSIE Word Problems on Addition (So8eiop o°8 88e0) |

1. Nagesh spent ~ 5450 for his father and ~ 8500 for his mother to purchase clothes on
the occasion of “Shashtipurti” of his parents. How much money was spent by Nagesh?
TR~ 545005 85 S0(&8 © 85000k S5 $98 70 K o8 B agen FHwd sFb.
©wand Ta B3 SQLohe adS Ingo L) Jod?

2. Inafactory, 4738 soaps were made on Monday and, 3878 soaps were made on Tuesday.

How many soaps were made in two days?
2.8 dagye @tggéés RBarB0 Tt 4738 Saxen, horiFardo oeth 3878 Sapen SirEERg.

BoH Sl o é‘ggéés SXrEonS Sndo HaBR?

Signature of the Teacher

Excellent

OD @D “sm .|!;D
amarava hitedcher.com™<
Good

Poor Fair Average
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STORISSIE Word Problems on Addition (So8esop oo8 88e) |

3. Inan orchard, there are 3865 sapota trees and 2548 mango trees. How many trees are

there in all in the orchard?
2.8 8%0&® 3865 )0 Bey, 2548 Srod Bey o). @ &0d® Indo I By Gaow?

4. Arjun purchased a TV for = 5500 and a cooker for = 3645 from a shop. How much
money he has to pay for both the articles?
@6235 2.8 £.9. 3~ 55000%, 2.8 HEEJ * 36450H 2.8 Hseea0 o) hoR%en B,
o8 &S © BoGod EITAS HSPemriNS Jod Pk BQowd?

) 49

https:/Za aravathitsaght
Good

, rer.com Signature of the Teacher
Poor Fair Average

Excellent
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STORISSIE Word Problems on Addition (So8eiop o°8 88e0) |

1. On the first day of a fair, 3468 persons visited. On the second day 1234 more visited
than first day. How many persons visited the fair on the second day?

a) What information is given in the problem? ...........cccoiieiii i,
D) WhatistoDe found? ...........oooiiiii i

¢) Which process do you follow to solve the problem ? ...........cccoeeiiiiiii e

2.8 agé’msm 2SS B8PS 3468 Ho0d éotﬁégé)e» éotﬁ@go:‘b@. Bo&S88%er B8P B0
1234 006 aé%zém 260656,305%53. Bo&S &b éo(ﬁ@goﬁ):ﬁ TP D0 ood?

®) & ézﬁaé?ge’i‘s SR DLPTPEO DOE? i
&) &8 DR ToRo° Y ézéa‘ésézéo?oo& B F VxR
5) &8 Doy PEIE D D0HBL) (BBAD DB? wovviiiiieeiieieie

2. On the first day of a fair, 3468 persons visited. On the second day 1234 more visited
than first day. How many persons visited the fair on the second day?

a) How many persons visited onthe firstday ? ........ccccocve i
b) On second day, how many persons visited more than first day ?..............cccccoec...

¢) How many persons visited on the second day ? .........ccccoveeeiiiiiiee i

a8 agé’msm 2SS B8PS 3468 Ko0d éotﬁ(ﬁ?}é)oa éotﬁ@go:‘b@. Bo&S8%er B8P B0
1234 008 aé%:ém 260666,305"63. Bo&S &b éoc‘ﬁ@goﬁ):ﬁ TP D0 Hood?

) RSB es 60666805326 0T Lo 110 v T X A
&) IS8 er Bo& BoKSs e Do aéagé NI VPP

8) Bo&Ss e 260656%05326 éotﬁégé)e» QOBLOOB? weriiiiiiieiie e

©o @ F @ .6
amarava hiteacher.com &
Good

Poor Fair Average Excellent

Signature of the Teacher
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STORISSIE Word Problems on Addition (So8esop oo8 88e) |

3. On the first day of a fair, 3468 persons visited. On the second day 1234 more visited
than first day. How many persons visited the fair on the second day?

a) Number of persons visited on the first day = 3,468

b) On second day, number of persons visited in more than first day = 1234

¢) Number of persons visited on the second day 3468 + 1234

a8 a@é’axﬁ@ 2SS Serd 3468 L0b éofﬁégé)e» éotﬁ@goé’)@. Bo&S88 e Rnsd88e o
1234 006 aé%:ém éoé@gom&. Bo&d &b 60856,30{’,)26 TP D0 ood?

) L& $oLGODS 5 = 3468
@) & S8 BokHT e JEPSHT $0K8BoDS T = 1234
) BoEHG e HoBGODS Holg)Een = 3468 + 1234

4. On the first day of a fair, 3468 persons visited. On the second day 1234 more visited
than first day. How many persons visited the fair on the second day?

2.8 03@5)8’4563 2B Serd 3468 L0b éoéégéaoa éotﬁ@goé’)@. Bo&S88%e Rnsd88 e o
1234 006 aé)&ém 260656,305063. Bo&S &b 60856,305326 TP D0 Hood?

o @ .L.0 ©
https://amaravathi
Good

' tsagher.com Signature of the Teacher
Poor Fair Average

Excellent
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STORISSIE Word Problems on Addition (So8eiop o°8 88e0) |

1. The cost of a bicycle is = 7945, the cost of a tricycle is ~ 1680 more than that of a

bicycle. What is the cost of the tricycle?
2.8 8w BHJo ~ 7945, (B 28S T30 p8en Jo Bo& © 1680 ). (B 285 I

Do&?

2. Inanelection, 3256 votes were polled to Ratnam. 2693 votes more than that of Ratnam
were polled to Mohan. How many votes were polled to Mohan?
2.8 APBoE® Samend ISP Lén 3256, IrSE Szvyen Bo& 2693 L&y KN Sawyow.
®on8 IsPSE SO Léy J?

()
m Signature of the Teacher

Excellent

@ @& O 9.5
amarava hiteacher.co
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STORISSIE Word Problems on Addition (So8esop oo8 88e) |

3. In a village, the number of males is 1563 more than the number of females. If the
number of females is 3865, what is the total population of the village?
2.8 ([P0t Hsve sagr, o acrge So& 1563 B, o emrgr 3865 wond e

(0088 HBe 2mrgr dod?

4. Kumari has 5340 and Suhasini has ~1480 more than that of Kumari. How much

amount Suhasini has?
Booed éc‘g T 5340 8. 058 zécg SIINVLLS) EéCOS 6Q) Sapen o0& ~ 1480 BN &I,

OB KBV 5& &) FS":éaaé oes?
Q

& @ o
https:/Za aravathitsasht
Good

, rer.com Signature of the Teacher
Poor Fair Average

Excellent



3. Addition

pr All CI (0] Below Lj
e AT, oo oo
SN[ Addition More than two Rows (So& Qogge Eéoée::éo)l

1. Do the following. 808 &r&Zes FcHos.

a) 6984 b) 3546 c) 5634 d) 2549 e) 4267
968 87 698 3654 964
(+) 85  (+) 639 (+) 984 (+) 754 (+) 3697

2. Estimate the following sums in A and match them with B.
A &80 030858 Breraed) ©90STHH08, B S $5rrrdos® 3858508,

A B

3421 + 4630
5348 + 1987
6054 + 1298
7169 + 2367
3999 + 939

3. Estimate to the nearest thousands of the number, which is 3752 more than 54382
5438 Yogy god& 3752 QENSS Doz S0 35560 é;éa%gzp&.

4. Find the missing number in each of the following. srdek> $reoS0d.
a) 4 8 9 b) [ ]4]]3 c) 5[ ]8/[]
M2 ]7 (+) 6[ |6] ] +) 23[]9

7 5 6 90 2 1 1 6 6

@ @ O 9.5
amarava hiteacher.co
Good

Poor Fair Average

()
m Signature of the Teacher

Excellent
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SN[ Addition More than two Rows (Sa& Qogge 2605@260)'

1. A company manufactured 2789 cars in the first year, 3968 cars in the second year, and
4195 cars in the third year. How many cars did the company manufacture in three years?
2.8 BoR IS Ho5BB0S° 2789 =08, Bokd KoSB B0 3968 5B, Kuer VoSBBoe®
4195 =080 SOTPEHRH0H. o7t éoéé“)coee‘j‘s & B02d S5 TS Iwdo 58 A7

2. A farmer spent = 3868 on repairing the pipelines, = 8595 on electrical fittings in the house,
and ~ 4568 on painting the walls.What is the total expenditure incurred by the landlord?
2.8 B 83 2088 OB Swe T 3868 o, DS e O e §%o
S 8595 o, e o Skt 456805 gpég)%;@éa. S080 D08 T 33@263?

& @00 ®
o hitps:/lar aravathitSagher.com Signature of the Teacher

Poor Fair Average

Excellent



3. Addition

pr All CI (0] Below Lj
e AT, oo oo
SN[ Addition More than two Rows (So& Qogge 2605@260)'

3. There are 4573 men, 3968 women and 1436 children in a town. What is the population
of that town?
.8 &0’ 4573 08 HHen, 3968 H0d (Rev, 1436 H00d Hyew ST
e 630850 Jwdo wTrer Jos?

4. The number of students in primary, middle and senior classes in a residential school
are 5028, 2397 and 1845 respectively. What is the total strength of the school?
2.8 B‘z”oa?\g&osaé FBTeS® (S, 0N, GBS BB &)cso?gzi@)oa SBode 5028, 2397
0BG 1845 H08 SEHEHIND. @ FEToSE Indo DgBoen )0& $006?

()
m Signature of the Teacher

Excellent

®© @ O 9.5
amarava hiteacher.co
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Poor Fair Average
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E!‘:'i:l:"l Addition (&g R ok ‘éoée::éo)l

I. Fill in the blanks. grde $r80S04.

Ex. 2563 + 4127 = 4127 + 2563
1. 3456 + 78 = + 3456

2. 6374 + 2468 = 2468 +

3. 3040 + = 2563 + 3040
4. 1450 + = 3860 +
5. 5489 + 39 = +

6. Add in expanded form. (DX8eadrsH08® Seos.)

1. 632+ 347 2. 524 + 372
600 30 2 + 500 20 4
+ +
300 300
40 70
7 2
= + + = = + + =

® ¢ @@ @
http aravathite :

aeker.com Signature of the Teacher

Poor Fair Average Excellent
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SRS Assessment ||

1. Do the following.

(@) 3562 (b) 6976 (c) 9687 (d) 8679
(+) 4321 (+) 2139 (+) 5896 (+) 6879
(c) 4963 + 89 + 674 (d) 3421 + 8453 + 98

2. Estimate the sum and match the following. One has been done for you.

(a) 6547 + 1757 7000
(b) 3942 + 2189 5000
(c) 5209 + 3210 6000
(d) 4731 + 1854 9000
(€) 3268 + 2108 8000

3. Salman and Srinu caught 2431 big fish and 1239 small fish. How many fish did they
catch in all?

4. The cost of one quintal of rice is ~ 4586 . The cost of one quintal of dal is = 1795 more
than the cost of one quintal of rice. How much is the cost of one quintal of dal?

D OD @D '3‘ |:|
amarava Q Chel‘.com J
Good

Poor Fair Average Excellent

Signature of the Teacher
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o RS

1. 806 6%&@263 DOHo&.

©) 3562 ©) 6976 5) 9687 %) 8679
(+) 4321 (+) 2139 (+) 5896 (+) 6879
&) 4963 + 89 + 674 &s) 3421 + 8453 + 98

2. VoBwdINT O @I JoHod HBIM KB JSSrerares® dhsSod.

®) 6547 + 1757 7000
&) 3942 + 2189 5000
a) 5209 + 3210 6000
&) 4731 + 1854 9000
&) 3268 + 2108 8000

3. S Hoako G 2431 g e, 1239 HF) VHH HEP. TBLEL HGS Fwgo Vdeo
A ?

4. 2.8 &oerd Aaigo $8 T 4586. o8 8otrd Bobd) $Y Soed aigo §Y o8 ~ 1795
QEN. o0 80erS EobDHR) B dos?

her.com Signature of the Teacher

® © @ .G
httpsslatharavathits
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Poor Fair Average
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SN L) O TSR 4-Digit Subtraction without carrying
Sg8eo (5;5 Sr0\8 THowr)

1. Do the following. (808 8ol Ho%od.)

a) 8249  b) 7523 c) 9468 d) 8560 e) 9763
()7138 () 2301 (-)3204 (-)2340 (-)4362
f) 5249 @) 3520 h) 6564 i) 8025 i) 6321
(-)3248 (-)2310 (-)3204 (-) 5020 (-) 4000

2. Take away 3640 from 8647. (8647 £08& 36409 &230%08.)

3. Subtract 5342 from 7452. (7452 $805» 5342¢ &0 dos?)

©c 0O @ .8
https: siteacher. .
lamarava Good cher CorTngcellent W 06 e TM&KM

Poor Fair Average



””””””” S 4. Subtraction
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4. Find the number which is 2020 less than 8042.

(8042 808 2020 SZnSrre Ko Jogg HO?)

5. Fill in the blanks (9% $r80$08&.)

a) 8 6 7 b) 7 5 6
) 2 2 4 () 2 3
6 5 2 3 4 2
c) 7 2 d) 8 3
() 4 9 () 9
4 8 8 7 3 9
o @ . htt’maravathger com Sigpatint of W Teachen

Poor Fair Average Excellent
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NN EN IS 4-Digit Subtraction with carrying
Hgodo (T SreRs’)

1. Do the following. (808 Sg¥¥omrod R%08&.)

a) 6734  b) 8512 c) 7236 d) 9253 e) 6328
(-)3528  (-) 4329 (-)3568 (-)4521 (-)5836
f) 5274 o) 8123 h) 7145 i) 6524 j) 3248
(-)3080 (-)5876 (-)5091 (-) 4608 (-) 1987

2. What must be added to 4208 to get 7142? (4208% do& E0HE 7142 e5H06?)

3. 9890 - 7999 =

4. 8786 —6894 =

@ @ © ©.0.6
httes7/amarava 0cher.com Sigpatint of W Teachen

Poor Fair Average Excellent
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SILMEN I Word Problems on Subtraction
LRBoRop T°8 SHe

1. There were 8645 soldiers in a military camp. Out of which 2143 were sent for a
special training. How many were left in the camp?
(@8 od 550HS° 8645 Lod PIHw Sokh. ©odd® 2143 Hod PIHes (HEE Bgn
I, Yo BDBoSE é.:é& VB dosod?)
a. What information is given in the problem? (& $%5358° @y Sreardo HNG?)

b. What is to be found (&5 $55ox5 teoe Ko ééags&ée?oo& A&?)

c.  Which process do you follow to solve the problem ? (&s 505 P58 Koy 2oHE)
(D8 0&B?)

2. There were 8645 soldiers in a military camp. Out of which 2143 were sent for a
special training. How many were left in the camp?
(@8 od 550HS° 8645 Lod PIHw Sokh. woidd® 2143 Hod PIHes (HEE Bgn
I, Yoz BDBoSE é.:é& VB dosod?)
a. How many soldiers were in the military camp? (e 5250:56° dod 08 I%oen
Bedn?)

b. How many soldiers were sent for special training? (o068 2%en (HBE BZeasd
IPB?)

c. How many soldiers were left in the camp? (Qo& 08 I%en 3HB0S® WA
&IN5?)

O © © L .6 @
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3. There were 8645 soldiers in a military camp. Out of which 2143 were sent for a

special training. How many were left in the camp?

(@8 otd 550HS° 8645 Lod PIHw Sokh. ©oid® 2143 Hod PIHen (HEE Bgn
I, Yo° BABoSE é.:é& VB dosod?)

Number of soldiers in the military camp = 8645
(Qoeerd S°?SOZ>’Q)638 Ko 208e)

Number of soldiers sent for special training =2143
(HBgE BZeado IS 2AHe)

Number of soldiers left in the camp = 8645-2143

(80808° oA &) PIBHen)

4. There were 8645 soldiers in a military camp. Out of which 2143 were sent for a

special training. How many were left in the camp?

(a8 Qoed s‘goo"g)és 8645 o0bh A% o, 0o &t 2143 %0d 20Hen @’Jéagé CISOES
I, Yoz° BDBoSE é.:é& 2B dodoh?)

Number of soldiers in the military camp =
(Qoeerd sv?goo“g)eS*3 Ko 208e)

Number of soldiers sent for special training =
(HBgE BZeado IS 2AKHe)

Number of soldiers left in the camp =

(8080S° oAY &F) PIBHen)

Sigpatint of W Teachen
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SILMEN IS Word Problems on Subtraction
RBotop T°8 SHe

Raju bought 8496 coconuts from a farmer. Out of these 5234 coconuts were peeled
off. How many coconuts are yet to be peeled off ?

(Tee o8 B 2.6&3 8496 ?a%)as*’ﬁoo ?aa&:. ot 5234 §°aa2363°d$>e» 5% édﬁ:amgo:o.
2085r HH SarDyS TayOsrahen Y?)

a. What information is given in the problem? (& $%5358° @ SLweardo HNHE?)

b. What is to be found (s Sigmeioe oy ézéagsééo?oo& AD&?)

c.  Which process do you follow to solve the problem ? (&z 505 P58 K5y DoHEY)
D8 0&?)

Bhaskar took a loan of I 5500 to buy a net. He paid ¥ 7680 to the bank and

cleared his loan. How much amount did he pay more to the bank? (a%&s 3 55000

BP0 $o0d Ko EHFY Ko’ B Foyd. Shard 0l T 7680w b FYo Ky

803, 08l b Sno HHE) TPR%ed vl IPoS Fky Jod?)

a. How much money was taken as loan by Bhaskar? (576 g0 000 8050
%690 D0?)

b. How much money was paid to the bank by Bhaskar? ()6 er505% 86A 39006
0&?)

c. How much excess amount was paid than the loan taken? (575 8% Soeeo Eo&
eS0T eg0HB) Do TYoTKhH?)

Poor
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3. In an election, 9568 ballot boxes were provided to a constituency. Out of these,
8246 ballot boxes were used. How many ballot boxes were unused?
(2.8 Jrpres ab&éoés 2.8 QX 2.66:20% 9568 a:°§e>e§ ePENeD 'sséro»oiﬁeacgoaa. wod&t
8246 gl erdyen DS&%@@S IS rAoBTrow. JoEEF SIRTAONR el erdnes I?)

Number of ballot boxes provided = 9568
(ool ea°§e>é5 ePEeD)
Number of ballot boxes used = 8246

(&HReA0DS eazge;éﬁ ePEeD)

Number of ballot boxes unused 9568-8246

(&5BeA0SD 2J°?S€Jé§ ePENeD)

4. Mahmad arranged 6856 chairs for a meeting in a ground. Out of these, 4315
chairs were occupied. How many chairs were kept vacant ? (5058 6856 H8yok
.8 g (BB’ wHdyT. ©okHe® 4315 How F08ED. © VErIEHotses® rdm
é:é& é:éae» AQ?)

o & & 9. ¢ .6
amarava yiteacher.com ~——
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Poor Fair Average Excellent
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SN KIS 4-Digit Subtraction with carrying
Sgodo (T SreRs’)

1. Do the following. (8238 Fcokos.)

a) 6074  b) 7203 c) 5004 d) 7040 e) 8020
(-)2349  (-) 5468 (-) 3652 (-) 3692 (-) 3914
f) 5000 g) 9000 h) 6000 i) 4009 i) 3000
(-)4380 (-)2456 (-)3048 (-)3020 (-) 1999

2. What must be subtracted from 8700 to get 5804? (5804 srokerd8 8700 Sood Dok

é@oa@?)

o @ . htt’maravathger com Sigpatint of W Teachen
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3. Subtract the greatest three digit number from the smallest four digit number.

(Teenro8e 813%&8) DY éospé So& Sueose 3)3%278) ?ocgéosp?széa &2F0%08.)

4. By how much 7002 is more than 42837 (7002 Sogyg, Eo& 7283 Sogg Qo8 2EH?)

5. Fill in the blanks (g*9e% $r80$08.)

a) 8 6 1 b) 6 4
) 8 ) 5 6 8
8 3 7 3 2 8 3 6

@ OD <DD D D £
hitps?//amarava ocher.congxIlnt 5‘3"‘“ ON&T
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SILMEN IS Word Problems on Subtraction
JRBotop T°8 SHe

1. Balaji bought 4260 mangoes from a garden. 2786 mangoes were sold. How many of
them are yet to be sold? (ererd a8 &%&® 4260 Sr&ogd ST, wokhe® 2786
e DL @953&63. 05° @Eﬁa&éo?\)é VAt elnt) AQ?)

2. Thrisanth got printed 2000 wedding cards for his marriage. He distributed 1856 cards
till now. How many wedding cards are left with him ? (&o@ro& 2000 Dars s
HOE0H SoBome. wokhe® 1856 550 H@BeH BB H02d DI, LADD 9555

J@e0 Y?)

o @ . htt’maravathger com Sigpatint of W Teachen
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3. Avvisitor travelled 3264 kilo metres of distance in his tour. Out of the total distance, he
travelled 2567 kilometres of distance by train. The rest of the distance he travelled by
bus. How much distance is travelled by bus? (6. (0535 3264 855hendy ($H0sreso
B, @0 2567 88 erts) BenaodS® (HAireo DK, DHADD Kroed) axkins® Hasreso
T2, 08k 2X0) To° (A5ea0 D25 Br8o dos?)

4. Ina junk shop, there was 7654 kgs of junk. Out of which, 5987kgs was iron waste and
the left was plastic waste. How much weight of plastic waste was in the junk shop?
(a8 SIS alg@"@ éc‘g 7654 8P Sres Sen e ©oHS® 5987 &8%en mdodns®
BSSTEHBDID, 1ADD @;;?85@5 BB BHS 26?305@. 9ONS Qg?e\gg ééq;@ 285 NoB?)

@ OD @D D D
hitps: Wedcher.com '
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SILMEN IS Word Problems on Subtraction
JRBotop o8 SHew

1. Asir sold his goat for I 8560 and bought a sheep for I 1450 less than the cost of the
goat. What is the cost of the sheep? (s28 &% 8 T 856005 @y LHBAW & b §¥
go& T 1450 BENNDH B (B . ©ONS S FBD DosL SEOINYY)

2. Seetha had ¥ 9684 and Eswari had % 5320 less than that of Seetha. How much amount
did Eswari has? (28 158 T 9684en eamon. &30 S5 D8 &8 &) dape Lol
% 5320en S emow. Sdd eﬁcg &) @“Eﬁw& o&?)

o @ . htt’maravathger com Sigpatint of W Teachen
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3. In a cattle there are 2896 cows and buffaloes are 1234 less than cows. How many
buffaloes are there in the cattle? (2.8 5o oSS 2896 wHen B wHe So& Aden
1234 8585 Bod. © Soos® éé&ﬁaw AQ?)

4. In Ravikona, the number of illiterates is 3265 less than the number of literates.
If the number of literates is 4389. Find the numbers of illiterates in the village. (o°Q&%S
(eooe® ©FTCdgen BT 3265 S50 JBFTgen Sodd. ©Foekdogen 4389 ood ©OnS
K)égm‘én?goo Q0 ook?)

5. There are 3654 mango plants in the groove. Guava plants are 1234 less than the mango
plants. How many guava plants are in the groove? (e.8 &%:&° 3654 L83ty SoDd.
S8 Bey Bo& 1897 SE erdBey Sod). @ & eroBiy A?)

@ OD @D D D
hitps: Wedcher.com '
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SOV EE Estimation
wosT IohEo

1. Estimate the difference to the nearest thousand.
(& Bod Kses HoTed S JoH wosTIV, grLes® trahod.)

6234 — 3698
7920 — 4960
8999 — 2910

9138 — 3333

5000 — 2687

A
000008

6389 — 4967

2. Estimate the difference on both sides and put < or = or > in the blanks according
to your estimation. One has been done for you. (& 808 a%3He D3568° adwds
SRt SHS JoH $X000, Jirmrrod B8 (HHF) Hbeds® card.
SooE T8 Dy D) $esf <, =,> ﬁ:zgeaés TEY Feyol.)

(Estimated value) (Estimated value)

(®ohT® Dend) (PohTP Jend)
a) | 62892974 =| 3000 < 6000 =| 86421024
b) | 5310-2410 = =| 7832 - 4967
C) | 93525423 = 8369 — 4697
d) | 6754-3982 = 5760 — 2160
e) | 93406627 = 6324 — 3364
£y | 63894188 = 7538 — 2377

O © ©
ht
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3. Estimate the difference between the largest four digit number and the largest three
digit number. (SeeniioSe 08O ?oc‘g D0ggEH 0O Hrose &P T‘bcg Doggd K 536?2001
©0STHOH04. )

4. Estimate the nearest thousand of the number which i1s 4276 less than 8631. (8631
éoapg ol 4276 ééé)&aé [o19) ‘K)ospézéa CS?éCS Fod wodTe FcHod.)

5. The sum of two numbers is 8324. If one of them 1s 5896, estimate the other number.
(Bo&k 2603135@ Swgo 8324. oSt 2.8 éospé 5896. Bo&kDd éosp?gzéa oS FOHo&.)

o 0 O @ 3.8
https- Stedcher.com .
famarava GoodC er CorTngcellent W o&lﬂéTMcKm
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SO Subtraction Facts
RdoBedo, JRBed T

1. Write subtraction facts from addition fact and vice versa. One has been done for
you. (20808 TR 0od) KRR FTRe, HREORN FEw Hod Jodod FEyed

o°o0&.)
Ex:
624 + 357 =981
981 — 624 = 357 981 — 357 = 624
a) 2534 +3168 = 5702
b)
867 — 325 =542 867 — 542 =325

o @ . htt’maravathger com Sigpatint of W Teachen
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2. Write addition facts from subtraction fact and vice versa. (Po8ed PSR Sood

IR TrEgen, HREoS FEyw HHod) Vool FEyeds Trehol.)

796 — 654 = 142

/\

3421 + 4237 =7658

b) /

4237 + 3421 = 7658

1967 + 1284 = 3251

/\

@ & © ©..60
httes7//amarava 0cher.com W%I&Tm
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SIS Profit and Loss .

1. Write Cost price and Selling price in the given table.

S.No Context Cost Price Selling Price
1. | Shanmukha bought oranges for
< 4500 and sold them for I 5200.
2. | Vasanth bought umbrellas for
< 1500 and sold them for I 1380.
3. | Prasad sold tamarind for I 2500.
He bought it for I 2000 previously.
4. | Venkat bought heap of mangoes for
< 1200 and sold them for I 1350.
5. Chalam bought a bag of ground nuts for
< 1460 and sold it for I 1250 .
2. Write profit or loss in the table according to the CP and SP
S.No Cost price (CP) in Selling price (SP) inX|  Profit /Loss
1. 1600 1750 Profit
2. 1800 1995
3. 6004 3695
4. 969 1096
5. 5344 5434
6. 7689 7689

Kumar bought red colour wool for ¥ 120 and green colour wool for I 80 and sew a
sweater. He sold it for I 240. Say whether he got profit or loss?

o @ . htt’maravathger com
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1. 808 abld Koot Q) Fo H0ckn wNiIe ol TPabol.

S.30 5055230 FHIe STADISELY
1. o“qeaa&sp 80 Hogy T 450005 &

X 5200 0% ey

2. | $Bo& Frhedn T 150008 5

X 138005 o3y.

3. (BFE DodHotHsH I 2500 ey 50
8% o8 Swoth T 200005 &I,

4. | F08E Srnd Hog HHdd T 120005 &
X 135005 o33.

5. | Seo 350858 adr T 146005 £

X 125005 o330.

2. 808 adwid Koos® eI, S oradhol.

https:/bit.ly/all-classes-new-text-book

L. o FHIe Sen & I Sl &t o / Sgo
1. 1600 1750 g0

2. 1800 1995

3. 6004 3695

4. 969 1096

5. 5344 5434

6. 7689 7689

3. &b QDD Bord wroed) T 12005 H0din @by Sord weoed) I 80 o 8 a8 3w
BP0, 0B © WD T 24008 T, oNE 9S8 ergILSm? $ge?

@ @ © 0.0.6
httes7/amarava 0cher.com Sigpatint of W Teachen
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Assessment
?osta TATer<)

1. Do the following. (808 &2Fgen Vchod.)
a) 7546 b) 9123 ¢) 5000

(-) 2085 (-) 3894 (-)2084

2. Find 8405 — 6897. (830°So& 8405 - 6897.)

3. Fill in the blanks. (*9e% $r803508.)

6 4 2
) 3
2 6 8 3

o @ . htt’maravathger com Sigpatint of W Teachen

Poor Fair Average Excellent



T e——————— 4. Subtraction G

e e e ol o e ' e i e Dr A” Classe ﬁg@mpen BeIOW L
https:/bit.ly/all-classes-new-text-book

4. Put the correct sign < ,= , > by estimating the sum and difference.

(255085 Jogedo é§6 JoH oS BN g8t < ,=, > H& %o, )

a) 3140+ 2890 8620 — 2180
b) 5189 + 1792 9368 — 2387
c) 4231+ 2160 5317 — 3592

5. Write the addition facts from subtraction facts and vice-versa.

RoBed TS Sood ?.Sagaéévzé TeSegen petYatoust) aSagaééezso So0d) JoBed TPSgen orodod.)

2) 2687 + 3149=5836 <

b) 5368 — 2490=2878 <

6. In a store, there is 7814 kilograms of jaggery. If 5867 kilograms of jiggery is sold.
Then how much of jaggery is left now? (e.8 &ozresos® 7814 &. (v, © Bwo Jod.
wotH&® 5867 8., © Byo wliY™ & Wsewod® HADS Byo Aod?)

@ OD <DD D D £
hitps?//amarava ocher.congxIlnt 5‘3"‘“ ON&T
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Multiplication of 3-Digit Number with 1-Digit Number

Sorosodoggd &8 @90326081:558 feCh-Totntate)

1. Find the products. (8c& e:e:(;ozéo EoSol.)
a) 342x2 b) 322 x1 c) 220x4

d) 330x3 e) 404x2 f) 233x3

2. Fill in the given boxes with appropriate numbers. (383 éoa;agoss ol Jodbok.)

a) 40| [x2 by 4| |2x2 ¢ 30| |x3 d) 332x

06 86 906 1328

o @ . htt’maravathger com Sigpatint of W Teachen
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d) 332x e) 2| |ox4 £)202 x
328 8 808

3. Check the following products, whether they are correct or not ? If not, correct
them. (8c& 0233026: 588009, 2608_2658, o Srdod. S 6 FEJ $ORHOA.

a) 243x2 b) 332x3 ) 102x4
466 996 488

4. Multiply 334 by 2. (3345 28° tHe3o508.)

e &6 & @ ¢ 8
hitps: NteAcher.com .
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SILMEDG  Word Problems

(1) There are 321 pupils in a school. The government supplied 3 pairs of uniforms to

each pupil. How many pairs of uniforms were supplied to the school in total ?
a) What information is given in the problem?
b) What is to be found?
c) Which operation do you prefer to solve the problem?
(2) There are 321 pupils in a school. The government supplied 3 pairs of uniforms to
each pupil. How many pairs of uniforms were supplied to the school?
a) How many pupils were there in the school?
b) How many pairs of uniforms were supplied to each pupil?
c) Which operation do you select to find the total pairs of uniforms supplied?
(3) There are 321 pupils in a school. The government supplied 3 pairs of uniforms
each pupil. How many pairs of uniforms were supplied to the school?
a) Number of pupils in the school =321
b) Number of pairs of uniforms supplied to each pupil = 3
c) Number of total pairs of uniforms supplied to the school = 321 x 3 =
(4) There are 321 pupils in a school. The government supplied 3 pairs of uniforms to
each pupil. How many pairs of uniforms were supplied to the school?
a) Number of pupils in the school =
b) Number of pairs of uniforms supplied for each pupil =

¢) Number of total pairs of uniforms supplied to the school =

® © © .6 Z
https/a thiteliefer. Signatine
P Goodmarava Elxcellen(?r com aé el
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28 PSzrost 321 Lod S)Waga%;e:o WD HTNBo. (800 oL 295827 S)wgg% e TIPS
DESFD Sodgen Hodd Fh, Iwdo Y ede VEEFD Kokyen Hodd TarO?

®) éé&e‘)‘g SN JEPTeEo AE?
©) D EEd?
5) & B B8 Q (HBHd QXNE0ER)?

28 Péost 321 Hod 8)::2363@ WP ST, (Bgheo T8 ae'é’s&é& 3):3239% e TPHPI
DESFD Sodgen Hodd T, Iwdo Y e VEEFD Koken Hodd TarO?

) ot o Hod Dorgien aTNLH?
©) a8508 AR e VEEFED HHed Hodd BIGH?
2) BB Hodd TP DEEED Hidhen AT BenkoSSreod O (HBaH IXDH?

28 PSzrost 321 Lod 8)@553&» WD BTN, (3800 0L aagszpwagg% ez TIPS
DEEFD Sodgen Hodd T Fwdo A ade DEEED Hkeo Hobd Fairo?

) PETOSEY Drmgdien Sogy =321
©) aBE) Dorshs Kok DS DELrD ke ade Sopg =3
8) PSP Hodd IS Fndo DELRS Hike ede Ko =321 x3=

28 ot 321 HHod Sw‘gt%e: DD HTNB. (BehEo T8 au'é'szpwagg% 3 o TP
DESFD Sodoen Hobd T Indo A wde DEEES Kikes Hodhd Fird.

®) FETost Drgden Bogy —
©) a8 Dors0l Hobed DS DELED hyen ade Sogg -

B) ST Hodd IS Fndo DEGRS hiken wde Hogy =

°c 0 T 9. 0. @
https Sehcher.com :
[amarava GoodC er corTngcellent W oémTWKm
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SN LTI O Multiplication of 3-Digit Number with 1-Digit Number -
Word Problems

Sorosodoggd &8 @9032608;:558 feCh-Totntate)

1. There are 213 benches in a school. 3 students can be seated on a bench. How many

students can be seated on 213 benches?

(&8 Fdos® 213 agen sTow. &) aup Qi Yo Er8iiodh. 08 213 agop
2o& Kook Sbwgt%en §3'°58L)ﬁ€)63?)

2. Ifthe cost of each shawl 1s ¥ 223, what 1s cost of 2 shawls?
(2.8 Bend 0% T 223, 08 2 Tende PO Nos?)

o @ . htt’maravathger com Sigpatint of W Teachen
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3. One lorry carries 243 bags of rice.How many bags can 3 such lorries carry?
(&8 ord 243 Hodgo aFen THPS B 3T, wewdod 3 wrden A Halgo DD
E08%)50H?)

4. If the cost of one sitting stool 1s ¥ 220, what will be the cost of 4 such stools?
(2.8 Ku;e» 28 T 220, ©onsd wénHod 4 E(w;@;} 2O Dos?)

©o & O Q9 & . ..
hitps?//amarava 0 cher.conEXIlnt 06 #he T

Poor Fair Average
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1. Find the following products. (80& oo EoAPSo&. )

a) 23x100 = b) 38x100 =
¢) 72x100 = d) 84x100 =
e) 12x200 = f) 24x200 @ =

HIW KdoQozed?

2. Fill in the blank boxes (ol QoHol.)

a) 932x 1= b) 867 x 10= c) 238x = 2380

d) 167 x10= e) 81 x 100 = f) 62 x = 6200

3. Find the product of the following (808 wares 8%08%08.)
a) 9x400=—— b) 6x500=——

c) 8x700=—— d) 7x800=——

o @ . htt’maravathger com Sigpatint of W Teachen
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Multiplication of 3-Digit Number with 1-Digit Number
SorosSodog &8 @903260892358 HdoBsto

1. Find the product. (og0 £58%08.)
a) 212x4 b) 220x4

2. Verify the following and correct them. (808 ihessedbnen $8890D), $0TcH08)

a) 325 b) 436
) X 2
6410 862

3. Fill in the boxes with appropriate digits. (333 éoasage&s HE% Jodod.)

a) 3[ J2x2 =[]6[] b) 438x[ | = 1314

4) Find the product. (808 B%Heo Tchod.)
a) 453x5= b) 587x6=

400 50 3 x5 500 80 7 X 6

400 x 5 50 x5 3 x5

2000 280 15

O O O O O
@ @ © ()
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SULMEN O Multiplication of 3-Digit Number with
1-Digit Number - Word Problems

1. Ramayya went to work in an agriculture field for 2 days. If his wage was I 425

per day, what was his total wage?

a) What information is given in the problem?

b) What is to be found?

c) Which operation do you prefer to solve the problem?

2. Ramayya went to work in an agriculture field for 2 days. If his wage was I 425

per day, what was his total wage?
How many days did Ramayya work?
How much was his wage per one day?
How much was his wage per two days?

3. Ramayya went to work in an agriculture field for 2 days. If his wage was ¥ 425

per day, what was his total wage?

Wage per one day = 425
Number of days Ramayya worked = 2
The wage received by Ramayya for two days = T425x2 =X

4. Ramayya went to work in an agriculture field for 2 days. If his wage was ¥ 425

per day, what was his total wage?
Wage per one day =
Number of days Ramayya worked =

The wage received by Ramayya for two days =

] 9

& © @ (..6 z
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@o%o : l

1. oedoddys a8 Podns® 2 Sfwren BT, 28858 T 425 © TRPS BodSierod 0828
dod Erd 33087

©) TGS 2P BEPTEHDE?
@) D 550857097
B) & 8% I0HT08 O (BB dnHotrD?

2. ooHoky a8 Podns® 2 Sfwren HITFL. 28858 T 425 © THPS BodSierod 0828
dod Erd 33087

TS5 8B e Erd Dod?

Tes0asy AR Beren Brodnd® HABBE?
BotH&ered E0 Indo E0d Jos?

3. oodaky a8 Podns® 2 Sfwren HITTL. 28858 T 425 © THPS BodSierod 0828
dod Erd 33087

2.8 S Erd = T 425
U°£§ao‘ﬁ>§ HAB2S BPeren =2
Bot SPered 8O U%Saoﬁaéén 503 Erd = T425%x2 =3

4. TR0k a8 Podns® 2 SPeren BT L. o888 T 425 TIPS BodSierod ©8Q8 dod
gxd $&08?

2.8 S Erd =
e vlovy oS HITDS SPaven =

TRl TPoBK50NS Erd Ern =

© @ © @ _ &
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SO L (W Multiplication of 3-Digit Number with
1-Digit Number - Word Problems

Heosedo - oo aézpa

1. Inahostel 135 kg ofrice is consumed per a day. How many kgs of rice will be consumed
in a week?
(.8 a’ﬁéeS—eSs DO BB 28 SP2% 135 8. (. Dahgo &) 33_363 038 a8 8ost Q) 8.
(. Aakgo ey 33_363.)

2. If Rangamma sold each guava at I 6, then how much money she gets on selling 154
guavas? (8058 &8 ePHsecdd I 6/~ FTHpS @98)3&3, 154 e05P0ho0 @S @B
PO &) DoB?)

3. Janaki sells each garland at I115. If she sells 8 garlands on a particular day, then how
much money will she earn? (288 2.8 reiorsd I 115/~ S k. &8 Sl 8
Bofen @iEoNy B o0& Do Db, )

o @ . htt’maravathger com Sigpatint of W Teachen

Poor Fair Average Excellent



E—— 5. Multiplication R

. 22 e br All Classes NAW S@2EB8&®pen Below L | , A
https:/bit.ly/all-classes-new-text-book

4. A recycling company of disposable plastics, collects the plastic at ¥ 8 per kilogram.
If it collects 124 kgs of plastic on a particular day, how much money it should pay?
(.8 P8 FPSr &I oD B P8 PRE FSry 1 8. (v, D T 8/- IQJB. o8 e
124 8.(1r. P35 FErHy DEO0DS B I Erarchen BYoerd?)

5. Chandradeep drinks 8 glasses of water every day. How many glasses of water will he
drink in one year? (365 days)
(SoBBS ©88% 8 rden Jfy srhzrds. 08 98 a8 $oIHTNE AYY) Edoe
DY) (BrHEetd?) (365 Seren)

o & & & & ..
hitps7/amarava o Cher.‘."on’lgxcellnt o¢ el

Poor Fair Average



— 5. Multiplication (gE—
,,,,,,,,,,,,,,, br All Classes l\ﬁ,mpen Below L i ) b

---------------------------------------------------- https://bit.Iy/aII-chsses-new-text-book

Multiplication of 3-Digit Number with 1-Digit Number

SorosSe Joggd a¥ @08 260813558 feCh-Totntate)

Find the given products and colour the answer in the grid given below. See what
you get.

@IS $8ES® aS esTres Thol. Boksd JGES® &) T& $ozreD Boib Jakol.

143x2 187x3  153x3  147x4  134x5  232x6
345%4 800x2  411x4  159x7 1266  141x6
304x6 213x4  256x7  394x5  398x5  200x5
346x7 900x8  280x7  642x4  503x5  700%3
803x6 361x2  354x3  234x3  243x4  435x6

Answer grid (3&rgeare $E5)

2598 2225 777 | 459 2108 | 999 1800

2525 646 588 | 7200 1113 | 1122 991

4800 4818 | 1392 | 846 2568 | 2100 2920

1380 1062 | 2422 | 1990 1824 | 722 1600

1793 756 1970 | 1792 852 702 802

898 3610 286 | 972 1644 | 8080 1234

4321 6464 1100 | 2515 1221 | 6450 2222

3330 670 1000 | 1960 | 2610 | 561 6465

o © © (.6 o
‘ htmaravathi er.com Sigpatint of W Teachen
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Multiplication of 3-Digit Number with 2-Digit Number

SoriosSe Soggy SoXosy 260813558 feCh-Totntate)

1. Find the products. (e:a:(;ezéo EoirSod.)
a) 352x16 b) 428 x 17 c) 536 x 18 d) 248 x 23

e) 306x23  f) 420 x 23 g) 209 x 34 h) 247 x 34

2. Fill in the given boxes with appropriate digits. (383 “60%058 B JoHo’k.)

a) 32| |x15 by 435x17 ¢) 32 0x24
16| |5 30| |5 18
325 4| |5 64 0

5 395 8

3. Find the product. (enaq.;ao EoirSod. )
a) 467 x14= b) 632 x 16 =
400 + 60 + 7 X

10
+

4

o @ © ©.60.6
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SN KIS Multiplication of 3-Digit Number with 2-Digit Number -
Word Problems

Soriose Soggy SoXosy ‘éoa:§§s toBodo (oo BE)en)

1. The cost of one metre Pondur cotton cloth is ¥ 294. How much amount is required to
buy 29 metres of such cloth? (2.8 &8 Srotiedd PEB @& 25 T 294. 08 eénHod 29
OS] PEB 2y TSV Jod Pdny S°ad.)

2. Abag contains 65 kg of rice. Find the weight of 118 such bags.
(&8 asgo e 2t 65 8. (. oo 08 wénSoB 118 Huigo avre athsd) Jos?)

3. A total of 146 students are studying in Mulagapudi Primary School. Each student paid
< 30 for the flood relief fund. Find the total amount collected.
(SooX5r8 FEeost 146 508 SDCJ‘;S%)@J@&). H5P% DSFAHABE 2,898 T 30 TP
Sapeo OB, 08 a8 DHUBI Layen Jo?)

o @ . htt’maravathger com Sigpatint of W Teachen
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4. (A machine in a factory produces 398 toys every day. How many toys will it produce
in 23 days ?) (.8 eS"Eﬁ)éeJ B350 5’38@’253@3‘3 2.8 a%o(go SPexd 398 éﬁ"zéaée» 658 3@0&.
08 23 Seros® A Sdyen a&® Bd08.)

5. A truck can carry 354 gunny bags. How many gunny bags can be carried by 28 such
trucks? (28 (©%) 354 aren IrBHK0m. 08 ®nsod 28 (LEw AR dFen
S8 NeH?)

@ OD <DD D D £
hitps?//amarava ocher.congxIlnt 5‘3"‘“ ON&T
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Multiplication of 3-Digit Number with 2-Digit Number

Soriose Joggy SoXosy Eéoapegés feCh-Totntate)

1. Find the products. (8c& QR0 EoiSod.)
a) 295x34 b) 386 x45 c) 468 x53 d) 506x 54

2. Fill the given boxes with appropriate digits.
(a?é Kot 883 Qdoggen Q050&4.)

a) 365x45 b) 306x38 ¢ 8 3%56
1l |25 448 48| |8
146 0 9| |8 15
16425 11628

3. Check the following multiplications, for correctness. If not, correct them.

(Bod feaorren H88D0S08. EJpr aHTE $0W%H08.)

a) 506 x 35 b) 469 x 46 c) 520 x 58
2530 2764 4160
1518 1876 2600
17710 21524 20160

‘l!l'::I <::::;j “I!I'F]
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Multiplication of 3-Digit Number with 2-Digit Number
(Word Problems)

SoriosSe Soggy Sorosy ‘éoa:§§s toBodio (oo BEen)

1) With the advise of their class teacher 85 students of class donated ¥ 125 each for the
C.M relief fund. How much did they collect altogether?
(a8 S858St &%) 85 oob &)w‘gé@)@ zéaosp?gzéao@’é B850 068 &?&é&(ﬁa T 125 JS8ovore
B, 08 ©oiEr 5D 1S PBo Jod?)

2) One basket contains 268 tomatoes. How many tomatoes are contained in 36 such
baskets?
(a8 anéégés 268 e3eer Hoty GINOW. werodd 36 aw%e;é‘s Q) ederen eotran?)

3) Lingayya was a bangle seller and sold bangles at I 36 per dozen. In the month of
March, he sold 287 dozens of bangles. How much money did he get?
(Boricly rere a5ard. a8 Keld mreren T 36 TIPS odymed. a8 Joe® 287 e
reeen @31)&3 o808 Jo& B0 Sod?

© @ © ©.0.6
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4) Sambayya produced 36 jaggery blocks through sugar cane harvesting. He sold each
jaggery block at ¥ 680. How much money did he earn?
(Froadlhy BEHD Hodosto TT° 36 Byo WHOH SATSD Brk. &l Byo @) T 680.
08 88 36 BRo WL Ao Wy Hi?)

5) Apparao distributed 64 school bags to orphan children on the occasion of his birthday. If
he bought each bag at I 245, how much money did he spend on bags ?
(oo 85 HES Berartd oxeg Dgeh 64 Joen aRyhen HoD P, &8 argrd 2O
T 245 o3 argrhen Hoto 550 @&k aoéé%“éwé QAFBeA0TE?)

OD @D D
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m!m Multiplies (¢>e3een) I

circle the multiples of 2 among the following numbers .
808 Sogge 2 Qwy) Hdered “K)” 63%0&.
2, 4, 14, 20, 21, 27, 35, 55, 25, 68, 65

circle the multiples of 5 among the following numbers.
80h ;60335@68 5 Qo) hderes k)’ 53%0&.

7, 15, 14, 20, 30, 22, 35, 36, 42, 45

Identify the multiples of 7 in the following numbers.
800 &S 7 S0 ihBero Ry’ HEod.
4, 7, 9, 8 21, 48, 63, 20, 35 30, 72

Identity the multiplies of 9 in the following numbers.
80h ‘éogpageég 9 So¥) hdered D) 53%0&.
5, 8, 18, 20, 27, 28, 30, 36, 40, 44, 45

© @ & X TG ..
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5. Multiply and complete the table chart. (80& Heoses SEE FrooNold)

X 1 2 3 4 5 6 7 8 9 10
1 1 2 7

2 4 10

3 9

4 24

5 20

6

7 56

8 72

9 90
10

Write the following by observing the above table.

(3 BES $08000 8ob Y Trahod.)

a) multiples of 3 are (3 &%) HeBeren)

b ) b b b b b b b

b) multiples of 7 are (7 &) tocderen)

b ) b b b b b b b

c) multiples of 9 are (9 Sw¥) HBeeen)

b ) b b b b b b b

d) multiples of 10 are (10 &x¥) Hocderen)

R 9 b

b b b b b )

o @ . htt’maravathger com Sigpatint of W Teachen
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